imix-1ltlc-ethipdipsec 2.0 0.0 3.1 0.1 +58.6 6.6
imix-1ltlc-ethipdipsec NT 1.7 £ 0.0 2.6 £+ 0.1 +55.9 £ 7.3
imix-1ltlc-ethipdipsec NT 0.7 £ 0.0 1.2 £ 0.0 +55.7 £ 5.7
imix-1ltlc-ethipdipsec NT 0.7 £ 0.0 1.1 £ 0.0 +54.1 £ 4.2
imix-1ltlc-ethipdipsec NT 0.7 £ 0.0 1.0 £ 0.0 +49.2 £ 5.0
imix-1ltlc-ethipdipsec NT 1.6 £ 0.0 2.3 £ 0.1 +47.9 * 5.6
64b-1tlc-eth-12bdbase NT 3.6 £ 0.0 4.6 £ 0.1 +29.7 + 2.2
64b-1tlc-eth-12xcbase NT 4.8 £ 0.2 6.0 £ 0.1 +25.0 = 5.1
64b-1tlc-dotlg-12bdba NT 3.3 £ 0.0 4.1 £ 0.0 +24.6 = 1.7
64b-1tlc-ethip4-ipdba NT 3.9 £ 0.1 4.7 £ 0.0 +21.6 = 3.1
imix-1ltlc-ethipdipsec NT 1.8 £ 0.0 2.2 £ 0.1 +21.0 = 3.5
imix-1tlc-ethipdipsec NT 2.7 £ 0.0 3.3 £ 0.0 +19.8 £ 1.0


https://plot.ly/

